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ACCOUNTING
Paper – I, II

CORPORATE ACCOUNTING/COST ACCOUNTING

Time : Three Hours

Maximum Marks : 40 + 40 = 80 (For Regular Students)  Minimum Pass Marks : 33%
Maximum Marks : 50 + 50 = 100 (For Private Students)  Minimum Pass Marks : 33%

uksV& lHkh iz'u gy dhft;sA
Attempt all questions.

[k.M (v)
(Section A)

1. iwokZf/kdkj va'kksa ds Hkqxrku ls vki D;k le>rs gSa \ ,sls Hkqxrku gsrq oS/kkfud vko';drk D;k gS \
13/16

What do you mean by Redemption of Preference Shares ? What is statutory
requirement for such redemption ?

2. vk; fof/k ls lerk va'k dk ewY; Kkr dhft, % 13/17
1,000, 14% iwokZf/kdkj va'k] 100 #- izfr va'kA 20,000 lerk va'k] izfr va'k 10 #-A okf"kZd
ykHk 1,90,000 #-, 2,10,000 #-, 2,05,000 #- vkSj 2,15,000 #- ÿe'k% o"kZ 2010-11,
2011-12, 2012-13 vkSj 2013-14 esaA
dj dh nj 25%
lkekU; lap; esa vUrj.k ykHk dk 20%
lkekU; nj 20%.
Calculate the value of Equity Share by yield method :
1,000, 14% Preference Shares of Rs. 100 each. 20,000 Equity Shares of Rs.
10 each. Annual profit Rs. 1,90,000, Rs. 2,10,000, Rs. 2,05,000 and Rs. 2,15,000
respectively in 2010-11, 2011-12, 2012-13 and 2013-14.
Tax Rate 25%
General Reserve Transfer 20% of Profits
Normal Rate 20%.

3. lesfdr fpV~Bs ls vki D;k le>rs gSa \ ;g dSls cuk;k tkrk gS \ 14/17
What do you understand by Consolidated Balance Sheet ? How is it prepared ?

P.T.O.



                                                                  (  2  ) Y – 338 / Y– 339

Y – 338 / Y– 339

[k.M (c)
(Section B)

4. fuEufyf[kr lwpukvksa ls lkexzh Qsj vuqikr ,oa lkexzh Qsj vof/k dh x.kuk dhft, % 13/16
vf/kdre lkexzh Lrj 1,500 Units
U;wure lkexzh Lrj 600 Units
ÿ; vkns'k ek=k 750 Units
fuxZeu 3,750 Units
From the following information, calculate Inventory Turnover Ratio and
Inventory Turnover Period :
Maximum Stock Level 1,500 Units
Minimum Stock Level 600 Units
Re-order quantity 750 Units
Issues 3,750 Units

5. mifjO;; ds forj.k dh fofHkUu iºfr;ksa dk fooj.k nhft,A 13/17
Discuss various methods of allocation of overheads.

6. viw.kZ Bsdksa ij ykHk&gkfu [kkrs esa ykHk gLrkUrfjr djus ds fy, fdl izdkj ykHk dh x.kuk dh

tkrh gS \ 14/17

How profit on incomplete contract is calculated for the purpose of transferring

to Profit and Loss Account ?


